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[PHS404] The use of pesticides in agricultural work is an example of _______.
Occupational hazards

[PHS404] Provision of First Aid is one of the components of _________.
Occupational health

[PHS404] Only a person with _________  will exhibit none of the body parts haing any 
form of pathology
Physical health

[PHS404] ___________ dimensions were identified based on the proposition of health 
by WHO (1948).
Three

[PHS404] The adaptation of work to humans is one of the _________of occupational 
health.
Aims

[PHS404] Until  1948, ________  was an elusive concept.
Health

[PHS404] Dispelling the __________of health that viewed health as absence of 
disease is a major  advantage of the conception of health by the WHO (1948).
Biomedical model

[PHS404] ________ issues are often given less attention than occupational safety 
issues.
Occupational health

[PHS404] The loss of income is one of  the ________ of an injury or illness.
Direct costs

[PHS404] Good industrial occupational health reduces staff__________.
Absenteeism
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